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D
PHYSICS
E
(Marks : 50)
A
L 51. The following planet has no atmosphere
TTHEENHD B (TR0
J
(1) Earth (2) Mars (3) Venus (4) Mercury .
° P00 e BT Botioy 0 (Ans: 4)
|
6 52. If the distance between two masses is doubled the gravitational force of attraction between them is
, BOHEI5000 80635 TS50 BedoNosdBEd, T3 Bty MBS 280
E (1) reduced to half. (2) reduced to a quarter.
A e BRB000 DBOTLOEE08 HHBO
L (3) doubled. 4) quadrupled. (Ans: 2)
Bégo;’afiﬁé_) ROl Béog 9030

53. The period of rotation of geo-stationary satellite is
| A0 BT Dood); @I ST

G (1) 24 hours (2) 12 hours (3) 1 month (4) 1 year .
D 24 Kotyen 12 Rotosen 1o 1 S0589y5500 (Ans 1 )
£ 54. Mass of stars and galaxies are usually expressed in terms of
A SEEreo, HEB Sotere (Aordyw) (SRGTEIDRD cevvrnererens T0° BT
L

(1) neutron mass (2) nuclear mass (3) solar mass (4) proton mass ( A ns: 3)
J BrgerS (98 Bolss (55508 6 (555078 oS (55508 -

| 55. The least count of a stop watch is 1/5 second. The time of 20 oscillations of the pendulum is measured
to be 25 seconds. The minimum percentage error in the measurement of time will be

28 IO TS Do), S5 Fod 1/5 28Sen. S'oiin 20 Eomres Daoestd BEI5T0R0 25 2ES00 @03,
TP 83),05t008"° SR ©d BK) D ERT B3

E (Ans: 2)

A (1) 0.1% (2) 0.8% (3) 8% (4) 1.8%

. 56. The dimensional formula for the torque is identical to that of

) 630, B FERE® oo Ll oy

B (1) kinetic energy. (2) potential energy.

| G 9%3@23 %3

G (3) moment of force. (4) all the above. ( Ans: 4)
D 209 (08800 2 @RI

‘ A [PT.O.

A PS
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57. A screw gauge covers a distance of 10 mm on the pitch scale when 20 complete rotations are given by
screw. If the total number of divisions on the head scale is 100 divisions, then the least count of screw
gauge in centimetres is

A B0, 15" 30855 20 90620 B5e 2w @0 P 10 20, o, SFEH0 WOAKA. Bo W,eod” 100 Jgrrres
G508, (BTN By, &S Fos po. B. o
1) 0.0002 cm 2) 0.0001 cm 3) 0.0005 cm 4) 0.05 cm
(1) (2) (3) (4) ( Ans: 3)
0.0002 200.20. 0.0001 20.2. 0.0005 20.20 0.05 20.2.
G 58. An example for a field having no divergence and curl is
D 993083 500X 86 8 s eTirdes

(1) Magnetic field due to a steady state current.
QO DS ETEFCNY Ayl waidI,08 FEo
(2) Steady state heat flow.
VOEE 0D EIETETHD
@ £

B (3) Maxwell's equations within matter.
S0 woBoyTIS $B0D SrERS BAESeTR
(4) Gravitational field inside a mass. (Ans: 2)
6535508 &0 Mooty e “;Z
E
A 59. Abullet of mass m is fired with a velocity V into a block of wood of mass M. The final velocity of
the system
m ($550°8 Mo B8 Mooy V M08 o8 DY), 85588 2050008 (DY, By 55073 M), & 3558
ooy, Bod Do
1y o @ BT ) @ 2V (Ans: 1)
° D Mem M M
£ 60. Which one of the following is a scalar quantity?
A 54 808 Te38° DO e&% o°3?
L (1) displacement (2) velocity
USTACLENE DB
B (3) momentum (4) power ( An S 4)
(SIS0 P0G 00

A PS
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Which one of the following statement is incorrect?

2o T3E° DO $50 90088 59

(1) ‘g’ decreases with altitude (‘g’ = acceleration due to gravity)
e@@éﬂ 27 D) SO0 (g7 = Mdo¥sB0es0)

(2) ‘g’ decreases with depth
S8 ‘g’ Dok BHBOCD

(3) ‘g’ increases from equator to poles
STE0G0P H00G (GOTd ‘g7 Do BB

(4) ‘g’ remains constant at all places

o) Toro BG ‘g’ Jeod Yoon® &oenod

Newton’s first law of motion gives the concept of

2&?5835 0563 K08 BPERD ... EIPRIRIRD B0,

(1) energy (2) work (3) inertia (4) momentum
%3 Y 230585650 (5395 N30

For a particle revolving in a circular path, the acceleration of the particle is
2.5 E693500 DTTS SIS0 DOEDROE TN B cveven 0820080

(1) along the tangent. (2) along the radius.
20 D TG0 D
(3) along the circumference of the circle. (4) zero.
NG 20 DM é?é%émﬁ“

If M is the mass and r is the radius of gyration of a disc, then its moment of inertia is given by

2.8 g% Gy, (55508 M 508010 FORS TgIEas T eooos, v e @rhass

2 l 2 l 2 2 2
(1) Mr (2) 2Mr (3) 3Mr 4) 3Mr

If a force F is applied on a body and the body moves with velocity  in the direction of force, then

the power will be

25 5399 F 2050 PAXAcISHEm, ¢ 590 o8 wo EArndis” $0od0S, g 55w

DOII

1 L 2) FV 3) FV? 4 =

(D 5 (2) (3) “4) 2
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66. The power of a motor which is raising 200 kg of water in ten minutes from a well of depth 60m is
200 &0 A3 60 .o o Bood 10 AAoDZooed’ 28 E'ovois) drerd Fog 900

A (1) 98W. (2) 196 kW.
(Ans: 4)
(3) 294W. (4) 196W.
67. On which factor does the capillary rise or fall in a capillary tube depends?
o egond® 888 Ty, SO ......, P SEORG &0t
(1) viscosity (2) interatomic force
?\ggéﬁ» @050 JES5TEWHO 2065 200
(3) surface tension (4) force ( An S 3)
B0 BOgH NSIGY

68. According to Bernouli’s theorem, as the velocity of air flowing through a pipe increases, the

pressure
5 230y® RTTOBO HSC0, 2.8 FMEgon K05 B MO d3d), o BABLI0B o) S3esss0

(1) increases. (2) decreases.
G pSleSHe! B30

(3) remains the same. (4) becomes infinity. (Ans' 2)
E OV STALNTATILENbIeTA VIS €9:50¢5 D00

69. The buoyant force depends on the

G850 (enaKoe]) ek P SREHG &0t

8 (1) density of the liquid. (2) viscosity of the liquid. (AnS' 1)
G55 oSS (€55

< (3) density of the body. (4) the centre of gravity of the displaced liquid.
D 589 ol T (@0% (553500 GIoosy, Mg Soigsia
A 70. A hydraulic brake works on the principle of

rEOE @5 2 35 DoKX

(1) Stokes Law. (2) Boyle’s Law.
; FGy Do 2000y oK

(3) Bernouli’s Theorem. (4) Pascal’s Law.
o B3O deposo i, DoTHoB (Ans: 4)
D

A

A PS
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71. If the pressure is increased, then the boiling point
2553500 DORDED erdy 1SS T80

(1) decreases. (2) increases.
BRI 20800

(3) remains the same. (4) depends on the volume. (Ans: 1)
2.8 BT Koot BOROBOBTEISNP IS 0N

72. A temperature change of 1°C on the Celsius scale is equivalent to a temperature change of
on the Kelvin scale

000 w08 1°C &S’ 53¢ 3053 008" ————— &I S0 D080,
() 1K (2) 274K
(3) 273K @) 0K (Ans: 1)

73. The property of the system that does not change during an adiabatic process is the
o8 ?gst‘gg BE0S® Sty DoEden Hoed 9598 G300

(1) temperature. (2) volume.
® &0 05008 EE
(3) pressure. (4) heat. (Ans: 4)
¢ 255500 s
D T
¢ 74. For a gas obeying Boyle’s law, if the pressurg increases by 1%, the percentage of decrease in
volume is
2706 ORI FeIoD TaNE) Do), DB 1% BOADE00B, TR 303 SOSBTeIs0S” B
GRINGY
1 100 |
—% —% —% .
(1) 1% @ 150" @) Top @ 7557 (Ans: 3)

75.  On reflection from a fixed end of a string, a wave undergoes a phase change of
2.8 QNG DRI AR 7 15000 STPHE5520 DoBS BS0RS0S” SOR 57 §5¢5:50

: M 5 @) 3) n ) 2m (Ans: 3)

76. Energy is not carried by
0" B8 g0,

. (1) longitudinal waves. (2) transverse waves.
@0 g 5 S SGE Borre
QadD
(3) progressive waves. (4) stationary waves. (AnS: 4)
) DAL BSore RO o
‘ A [P.T.O.

A PS

inigleal Jhigdeal bigneal Mbigieal  Download from WWW.JIbigDealin Powered By © JhigDeal ‘Meteal ihigeal Ibigheal Ibigbeal



Ibigheal  JhigDeal IhigDeal IhigDeal

Download from WWwW.JbigDeal.in Powered By © JhigDeal~

18

77. Longitudinal and transverse waves can be transmitted through

SINwjeRgblolovey @655 BOOTOY ———————— TXO° (5708 HodHTow
A (1) inert gases. (2) solids.
23¢5 el 2O :Ja“cgen
(3) CO gas. (4) nitrogen gas. (AnS: 2)
CO a0 DeSesS TP

78. The velocity of sound in any gas depends on
6 DO TOXHS’ ¢ DS P ST HeoBood

(1) its wavelength.
O BSoN QY g0

(2) its frequency.
oo iS50

(3) density and elasticity of the gas.

8 TPy CI0E); OIS Sodao ?‘@)@ égég’é
(4) all the above. (AnS - 3)
2 @)oo
E 79. Sound waves are
A G50 BTorren
(1) electromagnetic waves. (2) transverse waves.
DS, 08 Borred SEE Borred
B (3) ultravoilet waves. (4) mechanical waves. ( Ans: 4)
e9DVOS T BSored ATPoBE BSored
G 80. Beats are due to the superposition of two waves of
b Both> BOOTL> BTS20 DOBBHE IHOESHH0ed DHEH8

(1) nearly equal frequencies.
A TR V07 TR Ko

(2) same frequency travel in the opposite direction.
s o8 Freddgo $OR 9308 B¥6° (Haredotn

(3) different frequencies travel in opposite direction.
D05t Frsedidgo SOA $A0K HFS” Earedoo

(4) same frequency travel in the same direction. (Ans: 1 )
28 Faddgsoo SOR &8 8F5° Hosrelowo

A PS
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81. Magnifying power of a telescope, whose objective has a focal length 1 metre and eye piece has focal
length 1 cm, 1s

St SDEJ"?SOQ’BCSO 1 206t o800 e 5850 G0, U“&j“?so@iﬁé’)w 1 200.20. io aViea oy Eﬁég&’) @“’;’)Jg ?SESOJ
A 2D

(1) 0.1 2) 1

Ans: 3
(3) 100 (4) 1000 ( )

82. In human eye the focussing is done by
3502 DE5S° o QISR ———— TGO e3CorRd

(1) to and fro movement of the eye lens.
DS FEEB0082 B0 DBEL O WL

(2) to and fro movement of the retina.
€905 0I5 (Be3T°)H0 Booodhy &K E-OoBE

(3) change in the convexity of the eye lens.
. DB oK K0gTTEE $IEY
(Ans: 4)
(4) change in the refractive index of the eye fluids.
s DS ETEre SEaRsS M SrEy

83. Alight ray which passes through air and reflects at the surface of glass undergoes a phase change of
2.8 5708 &6e3500 1O T%O° (SaXredod Meer B0y STPHEKEN DoOSS, 858 GFEIEED

(1) zero 2) n 3) 12 (4) 2n (Ans: 2)
BIgI0
8 84.  Which of the following rays diffracts more?

53 08 DIVS easnwd® DO DEN; DDFH0050 FOACTI?

(1) violet (2) blue (3) red (4) green .
D e 28 S €55, (Ans' 3)
A 85.  When two coherent sources of wavelength 5000A are separated by 0.1 cm, the fringe width of the

interference pattern on the screen at a distance of 50 cm is
BN Y 50 S000A Ko Bowh Soexg 5°od exssTe $udy Er6o 0.1 2o. . BB, 50 2o, .o
EFE0S’ Ko B MGG $B50Es Jrgrod™D Hels ey

(1) 0.01 cm. (2) 0.05 cm.

6 (3) 0.025 cm. (4) 0.005 cm. (Ans: 3)

‘ A [P.T.O.
A PS
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86. The most suitable metal for making a permanent magnet is
T LODT,0BBH BOXTEDAN0EIE BAD S3T75500

(1) Copper (2) Steel
oA 26 (65,)

(3) Iron (4) Alluminium .
Qo0 OGO (Ans' 2)

87. Acharged particle having charge q, and mass m is projected with velocity , into a uniform magnetic
field B. The force experienced by the charged particle is

q 534500 00000 m 073 SORS 2.8 58 S0 S D508 eolbd,o o™ Bt
€3 3% Eea00Y FOAY woB0

= =

VB @ F=gle @ F-qWxp (Ans:4)

(D () F= VxB

88. The magnetic field strength at a distance d to an isolated pole of strength m is given by
d &57508° &8 OsroK GyorE50 m, G30E), ©0XT,08 1 g0

T

[y Hom 5 m
D ()471 4n d*

md
4 d 3)

5 89. Inmapping of magnetic field, when a short bar magnet is-placed such that its N-pole faces the geographic
north, then the null point (zero field) lies =q(V.B)

@008 FB5e) Deasoo (;‘Dﬂéiaoﬁ) §05, o8 00 Somralbi,08 &8 N0 TR QK EBEOE
A DD GO By DO PY ——————— &0l

(1) on the equitorial line.

528557000 B Dods

(2) on the axial line.

@éoiz B 5o¢s

(3) at an angle 45° to the axis of the magnet.
D @O, 08 LS 45° §eos’

(4) at an angle 60° to the axis of the magnet. (AnS: 1 )
A @O0T0B eFENH 60°0 s

90. A house is served by a 220 V line. In a circuit protected by 9 A fuse, the maximum number of 60W
) lamps in parallel that can be turned on is

. 28300220 Ssegeés E0R0GE000008. SeckoS’ 9 esohairbe @‘D?Sz?és 535500008, DHTroBSom DOACK
e 60 T woYE RO dos
(1) 10. 2) 30. _
° 2 (Ans: 2)
D (3) 20. (4) 40.
A
A PS
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If two capacitors of capacitances C, and C, are connected in series, then the resultant capacitance is
C, 50800 C, 330637 $ORD Dodk ITReats Be3E sd0B, 308 ITFRET Jeod

1 CiCs 1 1
= Ans:

(1) Cl +C2 (2) C] +C2 (3) Cl +C2 (4) C] C2 ( S 3)
The resistance of an ideal voltmeter is
e3¢5 TG SIBER0 By, DTGB
(1) Zero. 2) 1Q.

X:U?S&
(3) Infinite. @) 10Q. (Ans: 3)

e3:00850

The self-inductance of a long solenoid of length /, area of cross section A with N turns is
TGP 1, E"S Togion A 500 oty N Ao eps Fomrond o8, 5000 (058 Jeuss

NZA N2

(1) F= @ "=
(Ans: 1)

(3) u,lAN? (4) uAIN

The electric field due to a charged metallic spherical shell of radius R with charge q at a distance r
(r < R) from the centre of shell is

R g o 28 Rorsd &) SG0in q eb¥ins edidstnds. e S8 Solo $0od 1 Srod
(r <R) ot DesogS Fessoo

1 g 1 q | q
D 4ze, @ @D dre, R=02 P dne, 71 @ zro (Ans: 4)
%J“ééa’aoo

The magnitude of the mass defect is a measure of
(555078 &5 $5057er Somomsse
(1) Instability of nucleus. (2) Stability of a nucleus.

BoISE RSB0 B0 RSB

@ @

(3) Binding of electrons in the atom. (4) Binding of the atoms in a solid. A 2

SESTERHE OGS0 OGN0 PONHT R0 DORTERHO VORI ( ns: )

151208 3
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96. The frequency of a television transmitter is
£30e3 (B3 ooy, FReDIgea0 ( Ans: 3)
A (1) 100 kHz. (2) 1 MHz. (3) 100 MHz. (4) 10 MHz. ]

97. The relation between frequency v of the spectral line in the characteristic x-ray spectrum and the
atomic number z of the target material is
eﬂé’,)ezgea ) tolar) bg:m;imés , égé@fb@ 3’“55@2652313 vV 200050 oF S éa"gﬁm o?m§zI pelenNiianh) éoasé Zo

53@55 0220635330
(1) Ve Az Q) vz (3) ve< Z° 4) v o< 722 (Ans: 4)
98. A low level computer language is the
é’);éac@;w §o§g}‘°§e35 8T,
(1) BASICS. (2) FORTRAN. (3) ASSEMBLY. (4) PASCAL. ( Ans: 3)
£305, Bers aoh) TS
® 99. For effective radio transmission, the modulation factor should be

TS DEMT PIE5000E GOCESoRN 5Bt S

5 (1) less than one. (2) nearly equal to one.

. 2,53 £ éi}bé’) o) 28638 HEPSHm

A (3) greater than one. (4) zero. (Ans: 2)
28385 QY o

100. For the same amount of doping, the conductivity of n-type semi conductor is greater than that of
p-type semi conductor because
.8 HO5T00S $0dv0 DS n-6%0 GOEIEIPED0 GI0F), EEE5N0 p-O50 @PITErEo Sy 5
¢ DOL3OE0ES

(1) free electrons have more mobility than holes.
57 OGS Bedos FrGES 50

L (2) holes have more mobility than electrons.
T D), BBeB JOFTeoE) )

8 (3) number of electrons are more than number of holes.
OGS Doy FE SopgE 2500

G (4) electrons are negatively charged. ( Ans: 1 )
D DO WD ST )

A
A PS
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CHEMISTRY
(Marks : 50)

101. Which of the following is correct for an endothermic reaction?
28 SRITTE BS0bot S ($od T3S DO HOARHA?

(1) AH = —ve (2) AH = +ve (3) AH=0 (4) AU = —ve (AnS. 2)
102. The rate equation for a reaction is, rate = k[A][B]; The units of k are

8.8 185 Bt Dstessioo, Bew = k[A][B], k 3w, @aorered
(1) s~ ! (2) mol.lit s

7! S 671 .

ool ] . -1 1
(3) mol lit""'s (4) lit.mol s .
ol . =il 1. -1 (Ans. 4)
38 O . . 305 .

103. The rate constant of a first order reaction is k =3.0 x 10'2 min'l. The t, of the reaction in

minutes is
2.8 (BE50 ESTOESS: Bexw HoroEs, k = 3.0 x 1072 2.1 55 55 ty/0 Do e’

‘ . 2. e . (Ans: 3)
(1) 0.231 (2} 231 (3) 23.1 (4) 231 x 10°

E 104. Which one of the following is a colligative property of the solution?

52§08 T3 DD 28 @HEND B, FETTE GGRH0?

(1) Boiling Point (2) Freezing Point (3) Osmotic Pressure (4) Vapour Pressure ( Ans: 3)
Eroatsd L0 PoREISS FHswd GTDRCE DED50 gTRYy DESH

105. The pH of 0.001M HCI solution is
0.001M HCl @5es00 pH Dess
E (1 3 @ 1 3) 2 @ 11 (Ans: 1)

106. When an ideal gas is suddenly allowed to expand adiabatically into an evacuated container, then
which one of the following is applicable?

) 2.5 SETORPN AN Koy TBEVE e, T0m PE RS TE DD B S+ $od
; T3S DO SHOW?
(H)AS=0 2)AG=0 3)AH=0 4) AP =0 (Ans: 3)

) - [PT.O.
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107. The vapour pressure of the solvent in a solution is proportional to
2.8 ([@5e5008%) ([ed oy S0 (08 T3S’ BIE eRoTrEE0tisn?

A (1) the mole fraction of the solute. (2) the mole fraction of the solvent.
EPIHRD IS 2K @563 APS g
(3) the molality of the solution. (4) the normality of the solution.
| (Ans: 2)
(@530 erded @00 To30ed

108. A real gas is expected to exhibit maximum deviations from ideal gas laws at
B8 THS T0X0)) §0d TIS® B 3¢ eSGEra JoWRTE 508 NOP, JDeSsH FOAA0ERKI?

(1) low Temperature and high pressure. (2) low Temperature and low pressure.

o) G BoBa GfY DESHD o) &ED S0 GOREdEN
(3) high Temperature and high pressure. (4) high temperature and low pressure. (Ans: 1)
©QF EPD 3000 QY AESH0 ©QF GG B0 BeESEn
B 109. Which of the following of 0.1M aqueous solutions will have the lowest freezing point?
52 (300 Te3E B 0%y, 0.1M 2o @Hedn 0 HKD VYHTTHBD FONCI0EH?
(1) Sodium Chloride (2) Potassium sulphate
Féado §0& Ferdoko B85
(3) Urea (4) Glucose
’ (Ans: 2)
QLB Ky

110. The temperature above which the real gas cannot be liquefied is known as the

28 TR0 Ak 2§08 &P PN BN DosBE, & GPIBR ————— wortd
(1) Critical temperature. (2) Absolute temperature.
b 200 &S BOso e
g (3) Boyle temperature. (4) Inversion temperature. ( Ans: 1)
oS G DEB0 &P

111. The set of quantum numbers not applicable to an electron in an atom is
2.8 HESTEHE’D DG B2808 500 NCENGIRSHALIC U IsTotTab
1) 1,1,1, + 1A (2) 1,00, + 42

6 (3) 1,00, - %2 4) 2,0,0, - 12

(Ans: 1)

N PS
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112. According to Bohr’s theory of hydrogen atom which of the following is quantized for an electron
moving in an orbit?

50 DOpoBin EsUs TEeS SESTen) S0t el 88 B90D BESH od T3S 28 oo
EGe95300 DOCId0?

(1) angular acceleration (2) angular momentum
Sedas Bgoeasson Seda> (Esgdimsa _
(3) acceleration (4) velocity (AnS. 2)
B DS
113. The molarity of a solution containing 40g of NaOH in 2 litres of solution is
2 &ex8 @5easns” 58RI 40 (. NaOH @5easor Joerded
(1) 1.0 ) 2.0 3) 0.5 (4) 0.25 (Ans: 3)
114. Which of the following pairs of solvents form an ideal solution?
6 5+ (o EHe3BE’ OB elst @ DoGEN8?
(1) n-heptane and n-hexane (2) C,H50H and H,O
N =370 000K N-3375S CpH50H $08ax» HpO (Ans: 1)
(3) CoH50H and CHCI3 (4) HCI and H,O
A CoH50H $5080%0 CHCl3 HCI 508050 HyO

115. A solution is prepared by mixing equal volumes of 0.4M CH3COOH and 0.2M CH3COONa
K, for CH3COOH is 2x107. The pH of the resulting solution is

B RRTR PoKk05rekwen Ko 0.4M CH3COOH 3080w 0.2M CH3COONa o8 £02 e [keasdon
BATED00ES0. CH3COOH a8, K, desd 2x107. DHES @Headn pH Jend

D (1) 6 @) 54 (DELETED)
(3) 6.69 (4) 6.5 (One Mark added To All)

A 116. The units of van der Waal’s constant 'a' in the real gas equations are

TR TANRY BAISEHNGER Toih TS Horosin 2 BEreTe

(1) atm.lit.mol ™", (2) atm.lit 'mol™!.
B -1 -1 -1
w2 -2 ..-1 2
(3) atm.lit“.mol ™. (4) atm.lit" "mol =,
b @QJ"& @2 Z.*J"eg -2 @EJ"& @.-1 35"6 -2 (Ans. 3)
A
R PS [P.T.O.
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Which one of the following consists of positively charged colloidal particles?
€od 38" DO ¥ Seranndd Seross SOR aoociaso?

IhigDeal

(1) Arsenic sulphide sol (2) Silver iodide with excess of KI
B8 98 y& FS 200 @@zt st $ady KI
(3) Sulphur sol (4) Ferric hydroxide sol.
S S 208 PEE S (Ans: 4)
) P03 TED

Which one of the following is obtained when Methyl Magnesium lodide reacts with
acetaldehyde?

QerirbS WP Jofiyncio B8 BOANHE &+ 3od TS DO AFHeR0?
(1) Propanone (2) 2-Propanol (3) 2-Methyl-2-Propanol (4) 2-butanol

FuSS 2-FHTS 2-2:38, 2-FHSSE 2-e7@ISS (Ans: 2)

The hybridization of carbon in Benzene is
DoBSS” Sy ooy, WOREIS

(1) sp® @) sp 3) sp° @) dsp? (Ans: 1)

The alkene which on ozonolysis gives CH3CH,CHO and CH3CHO is
808 &) So&” DB LTI e02BE CH3CHLCHO 308t CH3CHO ofoisoso
(I) 1-Butene (2) 2-Butene (3) 1-Pentene (4) 2-Pentene

a3 2SS 120685 250685 (Ans: 4)

Nitration of Benzene is X  type reaction. The 'X' is
Do A3 _ X 55305 965 X' e

(1) Electrophilic substitution. (2) Nucleophilic substitution.

ABENOE B0 JrSArHds Hdgseo
(3) Elimination reaction. (4) Addition reaction. ( Ans: 1)
DSBS 1 RHO¥eR B

Ethylacetoacetate is prepared from ethyl acetate by the following process.
52§08 PHR0E HPS Moéde] 5008 BT eSS MéIeSKo BOITEDOA0E.

(1) Benzoin condensation (2) Aldol condensation
S3085°0008 H05H0 €3S HORRSH0

(3) Claisen condensation (4) Dieckmann condensation ( Ans: 3)
x5 oRaH0 AES0S H0B05H50
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123. In the reaction, CH3COCI+H; __X | CH3CHO+HCI,

X' is
CH3COCI+H, CH3CHO+HCI 58006 X' e

_ | ° (Ans: 4)
(1) Ni (2) Li Al Hy (3) AlClg (4) Pd/BaSO4

124. Isomers which can be interconverted through rotation around a single bond are called
2.8 ¥ 20GHL BT, EHoen eOR el ook So%] SEHtort STty s0R JuyTEs §od
DG5BT 08005080

(1) Conformers. (2) Diastereomers. (3) Enantiomers. (4) Positional isomers.
930837 5T e céo:i?ggéol?é)ﬁ@o 032)53015“’:535@3 3;:6 N MEAOV (Ans: 1)
125. Which of the following is formed when CoHs5OH is heated with Conc.H,SO4 at 170°C?
A CoH50H O ¢ HpSO4 & 170°C 5¢ IGD5c &2 God 7ed8° OB D&yko?
(1) Diethyl ether (2) Ethene
@ 515 Sd 530S
5 (3) Ethyl hydrogen sulphate (4) Acetaldehyde ( Ans: 2)
5 PEes $8ed Qoerirs
G 126. By which of the following methods can Alkylhalides be converted to alkenes?
D 59 300 TS D 3GIF y),d TBGeD e el Srutes?
E (1) Substitution (2) Addition (3) Elimination (4) Rearrangement
A 5858952 S CTONEY DSBS POSURSRES (AnS: 3)

127. Propyne is treated with very dilute HoSOy4 in the presence of HgSOy4. The product is
HgS04 55055008" @psio @88 HpS04 & efidy eorindis. 81 &y S agonty
(1) COOH (2) H3C (3) HCHO (4) CH3CHO .
I >c=0 (Ans: 2)
G H3C
COOH
128. Which of the following reagents may be used to distinguish between ethene and ethyne?
HS 508a%w ST 0G5 (o DETGOHOR0 BUYE B3 €08 SEES0E” DY HoDBTACBE?

(1) AmmonicalAgNO;  (2) KMnO;  (3) Bry/CCly (4) AICI; (Ans: 1)
ARN5S AgNO3

8 129. Ethyne is passed through a red hot copper tube. The product formed is

BP0 AT SO0 TR0 Fegiion Tooe HoRoDRHE At &yt
G (1) Benzene (2) Phenol (3) Propylene (4) Butyne ( AnS' 1)
b BodS 2SS 3OS 23S
) A

PS [ELO:

inigleal Jhigdeal bigneal Mbigieal  Download from WWW.JIbigDealin Powered By © JhigDeal ‘Meteal ihigeal Ibigheal Ibigbeal



IbigDeal

IbigDeal

IhigDeal

IhigDeal IhigDeal

Download from WWwW.JbigDeal.in Powered By © JhigDeal~

28

130. The pair of the compounds which both give positive test with Tollen's reagent is

8od a8 Jorged I F'OG) SEENE FTgy 905 Jiya?

1l

132.

133.

134.

135

136.

PS

IbigDeal

(1) Glucose and sucrose

(2) Fructose and sucrose

Ky’ B00ao Hof'E 55 B0d0akn Bof'E
(3) Agcet(:phenone and ﬁhexanal (4) Glucose and frui:tose ( AnS: 4)
J0eTFNTS Sodatw WS KrE'e SoBaty HEE

Which of the following compounds show geometric isomerism?
53 €0 ZJGDC;@@S 20 §B DR Bes00t8s?

(1) 2-Butene
2—835“56%5

(2) Propene (3) 1-Phenyl propene (4) 2-Methyl, 2-butene ( Ans:1&3 ;
DS 158 &S 2-2095, 2-aredS A

Excess of ethanol on heating with conc. HySOy4 at 408 K will give
R B05Te0S RN Sihsde Mg HpS04 & 408 K 5¢ & IS 6% BT

Ans: 2

(1) (C2Hs5)2S04 (2) (C2H5)20 (3) HoC = CHp (4) CoHs HSO4 ( S )

Alkaline hydrolysis of oils and Fats refers to one of the following.

es0008 BBy Fayg FTTe T wedFesno §od T3S B $Qotuo?

(1) Esterification (2) Saponification (3) Alkylation (4) Chlorination ( An s: 2)
D3bssesd WIDAERS ) 855 'S )

Which among the following is not paramagnetic?

5+ $08 TIE' DB ST ST BT

1) cr* ) NiZ* (3) Fe2* @) Cu'* (Ans: 4)

Which one of the following has the anionic complex?

5+ (308 73" D0 eSairdE Hofard) OA aXeid? (A 4)

: ns.

(1) [Cu(NH3)4]Clz (2) [Co(NH3)6]Cl3  (3) [Ni(NH3)4]SO4  (4) K4[Fe(CN)g]

Which of the following acids is the strongest?

53 Cod 85;3;?@65 D0 K EHD?

(1) HCI (2) HF (3) HBr (4) HI (Ans: 4)
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137. Which of the following oxides is the anhydride of HNO3?
Bo $od eh&ed” DO HNO3 B, doar@é?

A (1) NO (2) NO, (3) N»Oy (4) N»Os (Ans: 4)
138. The oxidation state of Nickel in [Ni(CO)4] complex is

[Ni(CO)4] oo oo JBS esdyises 28
(1) 2 2) 4 (3) 0 4) 3 (Ans: 3)

139. Which of the following is the [IUPAC name of [Cu(NH3z)4]SO4 Complex
Ge God 738" 20 [Cu(NH3)41S04 Sofiin cioo%), IUPAC Trsostensos
(1) Tetra ammonia Copper (II) Sulphate (2) Tetra amine Copper (II) Sulphate

Bier ST 5296 (1) $GyeS Qe edos 5200 (1) $&yed
(3) Tetraamine Cuprate (II) Sulphate (4) Tetraamine sulphato Copper (II) (AnS: 2)
B> &S Ergwed () 38T Qe &S 3SR
140. Which of the following is not a Lewis acid?
5+ (o T3S’ DB PR 58 507
) (1) AICI3 (2) SbFs (3) SO, (4) CN™ (Ans: 4)

141. Which of the following complexes has a square planar structure
52 $od éor%%ef Q0 BBE Bhode QTES00 SOA Aoy B?
() [Ni(CO)ul () [NiCly]* (3) INICN)* @) [CuNH3)a™ (Ans: 3&4)

142. The actual shape of XeFg is a
XeFg Q0% Q23 es8d
(1) Square Pyramid  (2) Octahedral (3) Pentagonal bipyramid (4) Distorted Octahedral
i 505655 HEE 3, $os Sossses B H6E DT e, P (Ans: 4)

143. In which of the following, has Nitrogen the highest oxidation state?
52§00 T3S B Ao PSS RY el st RO DACKIRD?

(1) Nitrogen dioxide (2) Dinitrogen pentoxide
B
DTS BeitG SRS WL
(3) Dinitrogen tetraxide (4) Dinitrogen Trioxide .
© e = (Ans: 2)
0 aRES’ES SeSé cDES’eS edé
A -
PS [ET.O.
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144. Orthophosphoric acid is
@gif@;as@m
A (1) Monobasic (2) Dibasic (3) Tribasic (4) Tetrabasic ( Ans- 3)
b§§°<5§;’113 E5rEER0 (BFrosR WEOIFEER

145. Which of the following exhibits correct order of electron affinity?
5o (308 IS DO JOD IBES e EITY BeSBeH80?

() F>Cl>Br (2) F>Cl<Br 3) F< Cl > Br @F<cl<p (Ans:3)

P 146. The Oxidation state of Iron in the complex Kj3[Fe(CN)g] is
K3[Fe(CN)g] 08508" 065 edissen 50

(1) +2 2) +3 (3) +4 @) +1 (Ans: 2)

147. Which one of the following is the strongest acid?

B 5+ $od T3S 00 @O ERD eB0?
(1) HCIO (2) HCIO; (3) HCIO4 (4) HCIO, (Ans: 3)
° 148. The element with the highest first ionization potential is

B0 SOOAEE F50 LOESLTRNY Soressn D87

. (1) Boron (2) Carbon (3) Oxygen (4) Nitrogen ( Ans: 4)
oS S esdyesS eSeS
° 149. What type of hybridization of sulphur is present in SFg?
SFg & 5035 900 Ir@REDS O E8500 Kod?
(1) sp’d @ sp'd? 3 sp’ ) sp? (Ans: 2)
£ 150. The shape of PCls is
A PCl5 cdoog), es5)0
(1) Triangular. (2) Square Pyramid.
! (Dehes BEGDH W&
’ (3) Pentagonal. (4) Trigonal bipyramid. ( Ans: 4)
DORTSS S 3an DHEWE
G
D
. A
A PS
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